Exam. No. of the candidate:

GANPAT UNIVERSITY
B.Tech. Semester V1 (CIVIL)
Regular Examination — May / June: 2012

C 601: Design of steel structure
Max.Time: 3 Hours

Instructions: - (1) Answer to the two sections must be written in sep:
(2) Figures to the right indicate full marks.
(3) Assume suitable data if required.
(4) 1S: 875(111)-1987. 15: (0-2007 and Steel tabl
Section — 1 ¢
1 The beam section is ISMB 300 connecte

using bolted connection. Design seat cont
130KN steel is of grade Fe 410 and bo

2 Design a gantry girder to be used 1
operated overhead travelligg
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with their function.
) BGIve classification of steel bridge in detail.
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rade Fe 410. Design also the field welded connection if required.

raw typical layout of plate girder & Explain different element of plate girder 13
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Section — [1
Design configuration for the roof truss & C

alculate Dead load, Live load & 20

Wind load per panel point in roof truss for the lollowing data:
Span of the truss (1) : 14m

Spacing of the truss (C) Sdm 4
Height of the truss :15m

Roof covering

: A.C.C Sheet @120N/m?

Probable life : 50 vear
Permeability opening : medium
Wall opening : 10%

Location : Ahma

in the outskirts of 15

Design an I-section purlin for an industrial |
shecfoof for the following !

Allahabad, to support 2 galvanized corrugate
data:

Spacing of truss ¢/c=5.0m

Span of truss=10.0m

Spacing of purlins ¢/c=1.5.0m

Intensity of wind pressure=2kN/m?

Weight of galvanized sheets=] 3

Grade of steel-Fe410
¢ R
N n Beam™ 7
' 1S used as a laterally supported beam. Check the 8

shear leg effect, web crippling & deflection. Max
S 250kN'm & Maximum Shear force is 125 kN.

Explain in Detajl-
An ISMB 450 @
beam for Bending stffe)
Bending momen m

Length of@e b is 8mBeam carry u.d.l load throughout length.
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